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1. (2+4+2 = 8 pts.)
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(a) Show that the vector field F(z,y) = (22 — - +y)i+ (= +2)jis conservative.
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(c) Using parts (a) and (b), evaluate the line integral / (22— - + y) dz + (= + z) dy,
c Y
where C: r(t) = (t,t%),1 <t <e.
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2. (4 pts.) Use Green’s Theorem to evaluate jl{ In(27 + arctan(z)) dz + (2z + Y 1) dy
c
where C'is the circle (z + 2)? (y 2) = 4 traversed in a counter clockwise fashlon
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3. (4 x 2 = 8 pts.) Determine whether the given series is convergent or divergent. Give

reasoning.
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4. (6 pts.) Determine whether Z( o ) n

n=1

convergent, or divergen /Z lee reasonin
M

is either absolutely convergent, conditionally
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5. (6 pts.) Find the radius of convergence and the interval of convergence of
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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (2+4+2 = 8 pts.)
(a) Show that the vector field F(z,y) = (2zy — i) i+ (2®+ 2y692)j is conservative.
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(c) Using parts (a) and (b), evaluate the line integral / (2zy — =) dz+ (2* + 2yey2) dy,
C xr
where C' : r(t) = (t,2t),1 <t < 2.
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2. (4 pts.) Use Green’s Theorem to evaluate f (em2 + 2y) dz + (arctan (/49 — y2)) dy =7
c
where C' is composed of the straight line segments from (1, 1) to (3,4) to (1,7) traversed

in a counter-clockwise fashion.
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3. (4 x 2 = 8 pts.) Determine whether the given series is convergent or divergent. Give

reasoning.
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4. (6 pts.) Determine whether Z(—l)” 3n+ N is either absolutely convergent; conditionally
n
n=1
convergent, or divergent. Give reasoning
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5. (6 pts.) Find the radius and the interval of convergence of Z(—l)
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